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1®cat @ cake 3 king @ chair
® cup
2@ cap @ bat (3 watch @) glove

® ball
3 A : Thank you.

B : @ Sure. @ I'mOK.
® Sorry,Ican’t. (4 Sounds good.
(® You’re welcome.
4 \Watch out!

5 A Let’splay baseball. / B : Sounds great.
6 A : How’s the weather in Daejeon?

B : (D It’ssunny. @) It’s windy:.
@ It'srainy. @) It’s snowy.
® It’s cloudy.

7 () Don’trideabike. (2 Don’teat.

(3 Don’t swim. @) Don’tfly.

(5 Don’t touch.

8 (O Stand up. @) Sit down.
(3 Open your mouth. (4) Wash your car.
(5 Wash your face.

9 A : I'have acold.

B : @ Sure, I can. (2) Sounds great.
(3) That’s too bad. (4) You’re welcome.
® I'mokay.

10 @M A : How are you? / B : I’'m fine,
thanks.
@ A : Don’twalk./B : OK.
® A : Help me, please.
B : Wait! I’'m coming.
@ A : Glad to meet you.
B : Glad to meet you, too.
(® A Let’s go swimming
B : Sounds good.
11 @ This isasnowman.
() That’s not my umbrella.
(3) Mom, this is my friend, Jim.
@) Dad, this is my friend, Alice.
(5 This is my puppy.

12 A : What day is it?

B : @ It’s nine. @) It’s black.
@ I'sSunday. @ It’sten dollars.
®) It’syours.

13 A : How old are you?
B : I’'mseven years old.
14 @ A: Areyou OK?/B : Yes, I’'m OK.
@ A Can you help me? / B : Sure, |
can.
(3 A: Let’s play the piano.
B : Sounds good.
@ A : Nice to meet you.
B : Nice to meet you, too.
(& A How’sitgoing?
B : Not bad.
15 @) It’s time for lunch.
©) It’s time for dinner.
3 It’s time for bed.
@ It’s time for school.
®) It’s time for homework.

16 @ It's cloudy. © It’s Sunday.
@ It’s windy. @ It’s raining.
() It’s snowing.

17 A : Isthis your eraser, Mina?
B : No, itisn’t. It’s Jinho’s.

18 A : Let’s play badminton.
B : Sorry, I can’t. | have a headache.
A : That’s too bad.
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1red, run, ring

2 (D) sister @) uncle
(3 doctor ) grandmother
(5 father

3 A Let’s go outside.
B : Oh, no! It’s raining.
4 A : Isthis your glue?
B : Yes, itis.
5 (D Don’tdo that.
@) Is this your notebook?
(3 That’s too bad.
@ May | help you?
(® Mom, this is my friend, Bill.
6 A : Let’s play badminton.
B : I don’t like badminton. Let’s play
basketball.
A: OK
7 A : | like windy days. How about you?
B : I like windy days, too.
8 (O Watch out!

(2) Sounds great.
@ Close youreyes.  (4) Let’s have dinner.
(® Areyou OK?

9 A : Let’s go swimming.
B : (O That’sagood idea.
(2) Sounds good.
(3 OK, let’s go now.
@) Sorry, I can’t. I’'m hungry.
(5 Sorry, I can’t. I have a cold.
10 @ It’s time for bed.
@) It’s time for breakfast.
® It’s time for lunch.
@) It’s time for school.
() It’s time for dinner.
11 A : What day is it today?
B : It’s Tuesday.
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12 A : Canyou help me?
B : (D Sure,Ican. (2 No, youcan't.
3 Yes, please. @) You’re welcome.
(® That’s OK.
13 We have math class today.
14 @ A : AreyouOK?/B : Yes, I'm OK.
@ A I'mtired./B : That’s too bad.
(3 A : Happy birthday! This is for you.
B : Thank you.
@ A Let’s go fishing.
B : Sorry, I can’t. I’'m sick.
(B A : What’s your name?
B : My name is Minho.
15 A : Do you like summer?
B : No, I don’t. I like fall.
It’s cool in fall.
16 A : How old are you?
B : I’'meleven years old.
17 A : I’'m hungry. What time is it now?
B : It’s twelve forty. It’s time for lunch.
18 A : Where is the bus stop?
B : Sorry?
A : The bus stop, please?
B : Oh, the bus stop! Go straight and turn
right.
A : Thank you.
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1 pink, peach, picture

2 (D ruler @ cap
(3) ice cream (@ notebook
(® pencit case

3 A : What shape is it?
B : It’satriangle.
4 A : How are you?
B : (D Great.
@ Very well.
(5 Notso good.
5 You look great!
6 @ A : Whatisthis?/B : It’sa cow.
@ A : Whoisthat?
B : That’s my teacher, Mr. Kim.
(3 A : What’s that?
B : That'sacat.
@ A : Isthis youreraser? /B : Yes, itis.
(® A Isthat your puppy?
B : No, itisn’t. My puppy is big.
7 A : How’s the weather today?
B : It’s cloudy.
8 A : What do you want?
B : Iwantabike.

@ I’'m fine, thanks.

9 (@ Yes, please. @ No, | can’t.
(3 Sure, | can. @) Sorry, | can’t.
(5 That’s too bad.

10 A : What color is it?
B: (@ It's30o’clock. (@) It’sFriday.
(3 Fiveyearsold. @ It’s yellow.
®) It’s Sunny.
11 A: Let’s go shopping.
B : Sorry, I can’t. I’'m tired.
12 @ Don’tsit.
@ Don’trun.
(3 Don’t swim.
(4 Don’t close the window.
(5 Don’teat.

@ I’'mnine years old.

13 A : Issheasinger?
B : Yes, sheis.
14 Touch your nose.
15 @ A : How much is this eraser?
B : It’s5dollars.
2 A : How much is this book?
B : It’s 7 dollars.
3 A : How much is this bag?
B : It’s 12 dollars.
@ A : How much is this doll?
B : It’s 10 dollars.

(® A : How much is this pencil?
B : It’s 2 dollars.
16 (@) Watch out! 2 Don’t do that!
(3 Be careful! @) Are you OK?
(5) Help me!
17 1t’s two thirty.

18 A : Let’s go fishing this afternoon.
B : Sorry, I can’t. I’'m tired.
A : That’s too bad.

et 2o| - 31
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1nine, nice, night

2@ bird @tree @ cap (@ table
(5 mouse

3 A : Helen, this is my mom.
B : Nice to meet you.
C : Nice to meet you, too.

4 A : How’s the weather in Busan?

B : It’ssunny.

5 (D Me, too. @ Watch out!
(3 Nicetomeetyou. (@) Let’s play soccer.
(® What's this?

6 A : Wow! Beautiful! I like flowers.
B : Mg, too.

7 Don’t do that!

8 @ lamangry. © lam happy.
(3 lam tired. @ lam hungry.
® |’'mthirsty.

9 A : Thankyou./B : You're welcome.
@ A : Whatisthat?/B : It’sa balloon.
@ A AreyouOK?/B : Yes, | am.
@ A : Glad to meet you.

B : Glad to meet you, too.
(5 A : Happy birthday!
B : Thank you.
10 A : Look at the butterfly.
B : Wow, it’s so small.
11 @ lamssorry.
(2) Good job!
(3 That’s OK.
@) Help! Help me, please.
(® Don’tjump.
12 A : Good evening.
B : Good evening.
13 A : How old are you?
B : I’'meight years old.
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14 A : Canyou help me?

B: @ Yes, lam. @) Sure, | can.
3 No, Idon’t. (@ No, you can’t.
(® That’s OK.

15 A : What time is it now?
B : It’seleven o’clock.

16 Hello, Julie. My name is Jinsu.
I’m 11 years old. I’'m from Korea.
I’m an elementary school student.

17 A : Tony, is this your ruler?

B : No, itisn’t.
Mine is yellow.

18 A : How much is that dolI?
B : It’s seven hundred won.
A : I want three dolls.

B : Here you are.




